EAGRAROBREERT — 2 N— ABISH —F

2020558268 (K) 4EI£IR4H

m L>HFE 72— ‘ %] & ‘ [eEmsm]  — | 4 (&) 15000 &
[AE4£] 1% :320,000 ™  23%&:89,000”  33&:44,000M”  43&:32,000MH . 57%&:25000 H
BB BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
N HEH :39. 21— . - SiEEE (£R)
N BEIVEEE == o4 s 1(3_9)7 2-2-1-2 | 40.1 1 (4_323) :“&*
RBALNT Ry IR B:FXI—TY—X pdcdie
N THERE :39. —4-3- . — 1R (£9R)
9 B EE DE D i 4 i 1(319)9 3-4-3-3 | 40.1 4 jg; e
LY BiEaA XTI HFAYREy K
S S 3 it 4 | BILURF 1:40.2 8-8-6-6 |40.0| — 5 444 | BRI (£R)
36| E7NRTTa 54.0 (1 1/2) 1) R J PN
R:FATATv— BE—ZTaU R YT FrrEF LTy —L
7 4 4 | BUIERE 1:40.3 5-5-4-3 | 40.5| — 6 451 | SIEELE (£R)
41717 P bMV=XL =1 54.0 (1/2) (-4) ’%\Hllﬁ—i‘& ’
L:Er7FOvY BiXxA7O-F pcie]
N [N FRAFA :40. -1-1- . — £E—& (£R)
50111 FLTYyIEY b 4 5 Frg (1742)73) 1-1-1-1 | 40.8 2 (4&2) q@%g
X:Ta-hnr7F—/ BTV IRT HR& 5>TVyInNL—
. . f 4 | Bt 1:40.4 3-3-5-5 |40.6| — 3 481 | BERZ (£R)
6 4|V L1s5vy3 54.0 (1/2) (+5) | HHEE
Rib—trya—4> BiFyII>Tl FEZ &Y K
. - BEHRD 41, -7-8- . - #AE— (£R)
d > DI h V==" SN e I ? <4+237> i
LN—ErTr— BI04 kL—0 (B) #B81-KL—va>aEI7y
5 i 4 | RTTR 1:41.9 6-6-7-8 |41.6| — 7 470 | IIHZ (£R)
855 J—ABHYFx A52.0 (1/2) (-4) IR ’
RixAagR—5— B:/—XNIKFI [l e
® I —F—@EBIERL
13=zr= 1,3,(4,8),7,5,2,6
2ol=7F= 1,3,4,8,7,5,2,6
Gal=7r= (1,3),8,7,4,6,5,2
43—F— 1,3,(7,8),4,6,2,5
[ RN
B OB 3 290M 714K 3-8 360M B = 3-8 1,070M 3ER 3-6-8 1,400M
1 B 3 120M 3-6 250 B H 3-8 2,020M JEH 3-8-6 6,660M
8 160 6-8 380
6 160M9
ABRICOVWTRLTERERROONDE, THEBLE W,




